
mounting structures for solar panels

The reproduction of this catalogue is prohibited without authorization. We reserve the right to make changes to our products to enhance their features.30

38X38 BRACKET
ANGOLARE 38X38
ESCUADRA 38X38
EQUERRE 38X38
ALUWINKEL 38X38

38

Ø8.5

11
.5

11
.5

38

38

8
Sandblasted aluminium 
Alluminio sabbiato
Aluminio arenado
Aluminium sablé
Sandgestrahltes Aluminium

Cod Note g

084.305.009

 Assembly with M8x20 screws, not included - 
Montaggio con viti M8x20 non incluse - Mon-
taje con tornillos M8x20, no incluidos - Mon-

tage avec vis M8x20 non fournies - Montage 
mit Schrauben M8x20 (nicht im Lieferumfang 

enthalten)

50

43X43 BRACKET
ANGOLARE 43X43
ESCUADRA 43X43
EQUERRE 43X43
ALUWINKEL 43X43

43

9

25
.5

5.3

43

43

8

Sandblasted aluminium 
Alluminio sabbiato
Aluminio arenado
Aluminium sablé
Sandgestrahltes Aluminium

Cod Note g

084.305.003

 Assembly with M8x20 screws, not included - 
Montaggio con viti M8x20 non incluse - Mon-
taje con tornillos M8x20, no incluidos - Mon-

tage avec vis M8x20 non fournies - Montage 
mit Schrauben M8x20 (nicht im Lieferumfang 

enthalten)

60

Cap - Tappo - Tapòn - Embout - Abdeckkappe

Cod Mat g Col

084.206.003 PA 7 A

084.206.003G PA 7 B


